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SHORT QUESTIONS

Q4 1 A Pers«;n ha\ds b= l:a" Q’F droceries wh le S't’!ni "1“
st H 5 ’t."]\K,n? to K _}'.err)cl A car s S‘t'lt cr;:?ry N:'H'\
C .

its encine rUnn;ng‘. From the St‘-’lncl Femt D_F werK,hQN
¢ ‘
are these tweo Sitvalions sim3lar ?
Aﬂs: Tn bm’ﬂ\ cases 'ﬂ12. dv5p11c.-emtn:t IS :\ero ”‘mc) henu‘e

no worle is done.Se These Situakion are Similar.

Q4.2 Caleulale the weoric done in Kilo jau}es in \i_rt.‘no‘ a

C
mass of 10 k& (at a steady velosity) throvsh 3 verliesl
he-'z—'hi of 1om.

Aﬂs" In this case werk deone is sTered in Tthe boc*?
ts P.E. So ’

worls = P~E - m‘_g\'l @

= 1o Kgx°i-8 m;z*\om
= 980 j
.93 Kj

Hence ‘tﬁ'zrox \KT werk is done.
Q4.3 A ——FOT:Q F ac'ts ’1"}1)'&3!.10}’\ &l d;s"fan:e L. . The »%Q)“c.e
is Then tﬂcreaSccl to BF

5 and Then acts ’H—\rough a
—fur'ﬂxzr distance o:\: 21. . Draw the work dia%ﬁ\m to sc:ﬂg_
Ans. A force F oacks threush
a distance L jThen

M
orcw ; 3 r‘(':j ec; d
Sp the fores is inereased £ oge 7
to 3F Through g distance /
c
2L )’ﬂ\e.n work done F ‘f':I\‘_ ///
= 3F. 2L = &FL @) {1 . /{31_

The Zired UHAEI' cr‘lP]\ Y Qc)u‘l\ L 2(;:
to the total werlc clqne S >

Total work done — FL + &FL = FFL (units)
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Q4.4 In which case is more work done ? When a ‘Svkg‘
b“\‘? °,_F baoks is I,Flz ﬂ-.roucﬂﬂ Soem, or when 3 ‘Se‘kg

cra't‘e is FUbHee) ’H-.rcunh 'Z.rn 3ecross ’T‘he Floor with a
force of SO N ?
_&ﬁ_;(&) m:S'QK% 7h:5‘ocm_—;e.5"m
In this case weork done is stored as its F’.E,
= P.E :mf\')
= Sao»9.% xo.5
= 245 7 O
b)) m=so Ks;’ 5 d=2m ,F=5SeW
W, = F.d

2
= So N 2 :100-3.

@ Yo Nam =T
So in T3t case werkk done {s more.
G.4 5 An ol:jv-ct has 1T °f PE. Em\o ain whal deesit mean?
ANnS : An Ob\tcx has P.E when T s 'n a -Fcrcrz —F'Q\J such
as o’rqy;t::t,ana1 .‘:.elé ar it is m a c-:ns'tra.-ned

H:‘a'te sud"\ as 43 t:omr:r-essea\ SF'.;“? or Qﬂtenaec’

Sprin?
(a)lowhen an o\)ect is raised 197 dmno T of werk
P.E =mgh = wWh = T (mwm)
\‘,e.', when one ﬂewton furce s arf;\,c_ci on X bcolj'
and l»{,’t e up ﬂ'\rous’.ﬁh a hew’}n Q,F_ [ as) ’H'\—e
Werls appesrs 2 'ts. c‘rav.tni_.an) P.E . Then
the werk done s sr}.-m—ec\ i the bedy is 17,
Lb) When a S‘ar—,nd ve CbmFrQsSQCD or eATended
b7 dom-? \T work on ,’t the worlk s censerved
n The Sfrmo as '\"5 Q)le'tlc P.E.

g . A ball o{, M ass (m’ is helcl ajt a he?c}\I h
abeve a table . The table top is at a hwu he
sbove The —F]oo\' one student says Yhat The }a:ln has
P.E *ma)’l Lul anolher 53/5 Ahak it s md(h —&J'\D
W)‘\o is Correri ?

_B_fl_s__. Bsth statemenls are correcd . It is maller °f
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rel aIve T:oSs Ton .fur SFQCJ_F/'T\:‘ the F.E =L the b3l The
F.E relalive to the tab)zter Vs m%l'u and P.E
relalive to The grounc’ is m%Q\,—thgv.
@ A.F When 2 rockel re_enters the akmosphere its nese
emne—
cene becomes Very hol. Where dees This hedl €ners?

Come {.ram ?

&'!5 When a3 rocket re-ef(ters the aﬂ:mesF}\er& Wwith

hi s’-"}'\ VQloc=i‘7 s \'t'_g nose Lecames VQr—7 haT clue. ta
nQn

air £rickion . The weorkdone aémns’t The Air £ri

's clh:méeé inta he:jf

Q W"\&t Sart °r enere-/ s n The aﬂcwma .
QZD Ccmrressec\ sP.—mc ®B) wWaker in 4 h":’h dam
) A movanéf car.

AﬂS;@E\JS’l\Jc P.E is stored m a cam]pressecl Sf:n-.ng

Q:)The waker in a h;fh dam has fravltatcnl] F.E

s he:oh’C w r T dhe basin.

C!.Ue_ ‘to T
(C) A mov:ni car h&s \<1: due te s'ts mo’tvhf\
certam he.nh“t

Q4.9 A E’lr\ ro[DS 2 eup from &
bd)‘l:’t}'l br(ZLKS lﬂtO P;QCGS- W]"*-‘Lt ener?? chan?ex 37'&

myolved ?
_E\_r_‘__g_ The cup has Cr:w, bationz! P.E zX 2 certain hersht
when 1t is droFr‘ecﬁ ts P.E Adecreases and K.E
mereases .- Just b:,}'ore strik .no the floor, The wshole

°-¥- P.E is Char\O‘ec) m't'c <-E . @n S"Cr-,K.no Phe dreuncl
the K.E s C\'\"lnoeg m'tc Scunc) hz:l:t :LnA wch

to break the CDf int s Pa exes
Q.4 10 A b07 Uses 3 caj;s}axﬂ't +o Throw 3 stone which
. List th=

aCCfa‘?f\Taﬂy Smas\\es =3 g)’"e‘?:ﬂ house Lm'na ow

Poss,
Aﬂs The elastic PE o_y_rn,\q C'Jj:QPUrt is Ttrans erreg) to
stene 25 tts K.E.when the stane strilkkes The green
Vs c‘h?na'ecs- lr\'tq

house w»nAow,“er_ I<.E of the stone
SQDY'\A heﬁi fmcj worXidoene 'n brenk.ng ﬂLQ wind oue

le eneroy chancses,

9\;155,
&
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